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Contribution à la modélisation numérique de la

propagation des ondes sismiques sur architectures

multicœurs et hiérarchiques
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Philippe THIERRY Ingénieur Senior, INTEL France Examinateur
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G�Q�G +�� �� �� ����	�� ��� ��4���

�� $
��� � � � � � � � � � � � � � � � � � ?P

G�Q�? +�� �� �� ����	�� ��� �����
�� $
�� � � � � � � � � � � � � � � � � � � � ?)

������ � �	
���
���	� ���
�	
�������� ��� �� ����	
� 
�
 
������
�


����
 ��

�������� � ��
����"�� � �#��������� �� 
����� $$

G�G !��
�����	
 �� 
���
��������	
 �� ����
������� �� 
����� � � � � � � � � � � � � AA

G�? 0���	
�� ��� ������� �� �������� � � � � � � � � � � � � � � � � � � � � � � � � AQ

G�A 0���	
�� �3
���
�� �� �������
����	
 L��
%6 � � � � � � � � � � � � � � � AK

G�A�G 6����������� �����
�� �� ����
� �� ����	�� �����
���	
 � � � � � � � � AK

G�A�? ������� �� �	���� �� ��	��������	
 � � � � � � � � � � � � � � � � � � QB

�



�� ��	
� ��
 �������


G�Q ����	�����	
 �� ��
�
���� �� ������������	
 � � � � � � � � � � � � � � � � � � QB

G�Q�G �������

�� ���
 ���
���	

���
� �� ��	��������	
 %6+ � � � � � � QB

G�Q�? 2���
� �� �� ��������� �� ������������
� � � � � � � � � � � � � � � � � QG

G�Q�A ;�������	
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � QQ

�������� % &���� �� 
�"��� �� � �'���� "�"���� (!

?�G +���
��������	
 ��� �

�� ��� �	

��� � � � � � � � � � � � � � � � � � � � � � � QK

?�? 6�
����� ./%0 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � QP

?�?�G �������

�� ��
��
������� � � � � � � � � � � � � � � � � � � � � � � � � � QP

?�?�? �������

�� ����������� � � � � � � � � � � � � � � � � � � � � � � � � � � � @?

?�?�A ������� �� ������	�����	
 �� �� �	����
�� ���	��� ��
� ���
� � � � � � � @K

?�A L��	

�

���
� ����
���� ��� ��
����
���� ������
��
��� � � � � � � � � � � � @)

?�A�G +	
����� �� �	������	
� � � � � � � � � � � � � � � � � � � � � � � � � � � @)

?�A�? ��������	
 �� �� ������
��� ��� �E
��� � � � � � � � � � � � � � � � � � � @)

?�A�A 0
��3�� ��� ��������� �� ���
����	
 � � � � � � � � � � � � � � � � � � � � JG

?�Q /
� ��������� 	���
��� ���� �������
���	
 > ��������	
 �� �� ������	��� ��� � � JQ

?�Q�G 2
�������	
 �� 
����� �� �������
���	
 �����	
 � � � � � � � � � � � � JQ

?�Q�? ��������	
 ��� ����	���

�� � � � � � � � � � � � � � � � � � � � � � � � J@

�������� $ )�
�"�������� ����
����"�� �� ����
���� �� ����
 "�"���� *+

A�G 0���	
��� ��
��
������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � KB

A�G�G ������� ��� ��
�
�
��� �� ��
	��	����	
� ��������� � � � � � � � � � � � KB

A�G�? 7�
�
�
��� �� ��
	��	����	
 ����
������� � � � � � � � � � � � � � � � KA

A�? %��� �
 I���� ��� ��
����
���� �����
I��� �� ������
��
��� � � � � � � � � � � K@

A�?�G 0��	������
�� ��������� �	�� �� ��
�
�
�� �� ���� 
������ � � � � � � K@

A�?�? ��������	
 �� ������������ �� �����
�� ���������
����	
 � � � � � � � KP

A�A 0�������	
 �� 
�� �� �� �	��������	
 �����
�� � � � � � � � � � � � � � � � � � KP

A�Q ��������	
 ��� ����	���

�� � � � � � � � � � � � � � � � � � � � � � � � � � � � K)

�������� ( ���� �� ,���� ��� 
������ �� �,��� "����
,��� -!

Q�G 2
��	��
��	
 ���
 �������� 
����� �� ������������ � � � � � � � � � � � � � � � PK

Q�G�G %�
�
���� �� ������������	
 ��
� �
 
	
����� �����
���	
 �3����� � � PK

Q�G�? 1��������� �� 
	���
�
���	
 �� ����
� �� �	���� �� ��	��������	
 P)

Q�G�A ;�������	
 ��� �
 ������� �3
�����
�� � � � � � � � � � � � � � � � � � � )?

Q�? 1����� �� .�������+������� ���	
 ?BBK � � � � � � � � � � � � � � � � � � � � � )A

Q�?�G !��
�����	
 �� ��	����� � � � � � � � � � � � � � � � � � � � � � � � � � )A

Q�?�? 0
��3�� ��� ����	���

�� ����������� � � � � � � � � � � � � � � � � � � � )Q

Q�?�A 1�������	
 ��� �����
��� � � � � � � � � � � � � � � � � � � � � � � � � � � )K



���

������ �� �	
���
���	� �	� �������� ��� �� ����	
� 
�
 �������
 ���
 ���

�������� � .�������"�#�� ��"���#�� �� ������/�� �0$

G�G 1	������ 
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GBA

G�G�G �
 ��� ��  ����$
���	
 ��� 
�	�� ��
� �� 
	
����� �����
���� � � � � � � GBA

G�G�? 2
���C� �� �	����� 6����� � � � � � � � � � � � � � � � � � � � � � � � � � GB@

G�? 0��������� ��������� ��� 
	
�������	
� � � � � � � � � � � � � � � � � � � � � � � GBJ

G�?�G 6������	

���
� ��� ��� ��
�
�
��� �����
�� �� �
������
�� � � � � � � GBJ

G�?�? 2
R��

� �� �� �	�	�	��� �� �������� � � � � � � � � � � � � � � � � � � � GBP

G�?�A 2
R��

� �� �� ��3��
�� �� ��	����� � � � � � � � � � � � � � � � � � � GBP

G�A 7�
�
�
��� �� 
	�	����	
 �� ��������� � � � � � � � � � � � � � � � � � � � � � � GGB

G�A�G +�� ��� 
	�
��� ������
������ 
	
 ��
������ � � � � � � � � � � � � � � � GGB

G�A�? ;�������	
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GG?

G�A�A 6������	

���
� � ���� 
������ �� �
���� �� 
	���
�
���	
 � � � � GGQ

�������� % 1��"��� �����
���2 	 ����� �� � �����"������� �� 3�
� ��!

?�G !��
�����	
 �� �	����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GGK

?�? 0
��3�� ��� ����	���

�� ���������� � � � � � � � � � � � � � � � � � � � � � � � GG)

?�?�G 0��������� ��������� ��� 
	
�������	
� � � � � � � � � � � � � � � � � � � GG)

?�?�? 6���	���

�� �� �� ����	�� �� 
	�	����	
 �� ��������� � � � � � � � � G?G

?�?�A 1	����� ����
� ��������� � � � � � � � � � � � � � � � � � � � � � � � � � � G?A

?�A 0
��3�� ��� ��������� ��3��
��� � � � � � � � � � � � � � � � � � � � � � � � � � � G?K

�	�
��
�	� �� ���
��
����
 ���

P�G +	
�������	
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GA@

P�? 6�����
����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GAK

P�?�G %�������� ����	�����	
 ��� ����	��� �����
���	
 � � � � � � � � � � � � � GAK

P�?�? 9����	��
���� ��� ��
����
����� �����
I��� � � � � � � � � � � � � � � � GAP

P�?�A 0���	
��� 
�����
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � GAP

P�?�Q %	��������	
 �����
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � GA)

.������ �(�

.����� . )��
���������� �� �����/"� ����������"�#�� ��� �� "������ ���

��4����
�� ����� �(�

.����� 5 )��
������� ��� ��
����
����� ��������� �(6

:�G 0�
����
����� ./%0 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GQ@

:�G�G 6�����	��� �������� � � � � � � � � � � � � � � � � � � � � � � � � � � � GQ@

:�G�? 6�����	���� �	�
 �� ���
 � � � � � � � � � � � � � � � � � � � � � � � � GQ@

:�G�A 6�����	��� ����
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GQJ



�� ��	
� ��
 �������


:�G�Q 6�����	��� �������	�� � � � � � � � � � � � � � � � � � � � � � � � � � GQJ

:�G�@ 6�����	��� ����	�� � � � � � � � � � � � � � � � � � � � � � � � � � � � GQJ

:�? 0�
����
����� 1%6 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GQP

:�?�G 6�����	��� ������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � GQP

:�?�? 6�����	��� %A6�+ ��
������� � � � � � � � � � � � � � � � � � � � � GQP

:�?�A 6�����	��� 5�.+2�+2.�1 ���� � � � � � � � � � � � � � � � � � � � � GQP

5������������ �(+

����� ��� �����
������ �*�



����� ��� 
�����

G�G !�$
���	
 ��� ���������� �� ������	
�� ��
����� �
������
�� � � � � � � � � � � � � )
G�? #������
����	
 �
������
�� �� 
������ �����	������
�� �� %	���+	��	�� � � � � � GB
G�A #������
����	
 ������$�� ���
 ���

�� ��	���� ? �
 A!� � � � � � � � � � � � � � � � G?
G�Q 2���������	
 �� �� ������ �� ���
��������	
 �
 
��

	

��� � � � � � � � � � � � � � � � GA
G�@ 1���
���� ��
����� �� 
	�� �����	
 �������
��
� �
 �
���� �� ��4���

�� $�


���� ��� ������ �� 
��
�� &�
 ����' �� �� ����� ���
����������	
 &�
 �	���' 
	
�����
�
� �

�� ���������� ��� �	

���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � GQ

G�J �
��
�� ��� �
�����
�� �
��� �	����	���
�� ��
� �� 
�� �� �� ����	�� ��� ��4��
��

�� $
���� !��� �
�����
�� �	���
��C��� �
��
���� � ��	���� Q� � � � � � � � � � � GQ

G�K 6�	
����� 
�����
�� �������� �	�� �� ���� �
 I���� ��������� �� �� ����	�� ���
�����
�� $
��� ��� 
��
��� ��������� �� �� ��	
����� �� .�N�	
�#����	
 �	
� ���
���������� �
 ����� �
 ����� 	
 �
��
�� ��� 	������	
� 
�
������
� ��� ���	����	
�
�����
������ �������
� ��� ��
�
�
��� ��������� ��
����� 
������ � � � � � � � � � � � � GP

G�P ������� ����
����
���� ��� �����	
������� � � � � � � � � � � � � � � � � � � � � � ??
G�) ������� ����
����
���� ./%0 �����	
������� �����
I��� � � � � � � � � � � � � � ??
G�GB ������� ����
����
���� ./%0 �����	
������� 	
�	�
I��� � � � � � � � � � � � � � ?A
G�GG 6��
���
� ��� ������� �� ��� �	

��� ��� �
� ��
��
� ���
 
����� 
I��� ./%0�

��� 
	������ �
��
��
� ��� �	

��� 
�
�������� ��� 
����� ������� �� 
��
��� � � � � ?@
G�G? 6	����
��� ���	��� 	�����
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�
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� ������
��� �� ��	��
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G�G 5�	������ �3
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 ������
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��� 8	
�� ��
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G�? ������� ���
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  ��
� �� �� 
	�
�� ���	���
�� �
 ����� �� ������ ��� �	�����	
� ���
�������� ��
� ��� ���� ����
��	
� ������
� �$
 �� ���
��� �
 
	���� �� 
	T� ��4��
��
� ��� 8	
�� �� 
��
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � A@
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∂σij
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∂ui

∂xj
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∂xi
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σij = λδijεkk + 2µεij
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∂
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∂
∂x
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∂y
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∂x
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∂
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∂z
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∂
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∂
∂y
vx +

∂
∂x
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∂
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∂
∂z
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∂
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∂
∂t
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∂
∂z
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∂
∂y
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(

x+
h

2

)

= f(x) +
h

2
f ′(x) +

h2

8
f ′′(x) +

h3

48
f ′′′(x) +

h4

384
f (4)(x) +

h5

3840
f (5)(x) +O(h6)
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x− h

2

)

= f(x)− h

2
f ′(x) +

h2

8
f ′′(x)− h3

48
f ′′′(x) +

h4

384
f (4)(x)− h5

3840
f (5)(x) +O(h6)
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(
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(
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(
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(
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